
Spiel 1 Spiel 2 Gesamt

13:54 A 19 Schaurhofer Johann 51 + 49 = 100

A 24 Hahn Manfred 53 + 56 = 109

14:01 A 20 Haider Hubert 57 + 48 = 105

A 23 Temper Anton 34 + 47 = 81

14:07 A 21 Hintersteiner Gerhard 38 + 38 = 76

A 22 Sperl Pierre 48 + 36 = 84

14:14 A 24 Hahn Manfred 63 + 48 = 111

A 22 Sperl Pierre 40 + 58 = 98

14:19 A 23 Temper Anton 51 + 42 = 93

A 21 Hintersteiner Gerhard 48 + 54 = 102

14:25 A 19 Schaurhofer Johann 56 + 46 = 102

A 20 Haider Hubert 60 + 56 = 116

14:31 A 20 Haider Hubert 53 + 58 = 111

A 24 Hahn Manfred 53 + 49 = 102

14:36 A 21 Hintersteiner Gerhard 44 + 45 = 89

A 19 Schaurhofer Johann 46 + 57 = 103

14:41 A 22 Sperl Pierre 50 + 50 = 100

A 23 Temper Anton 45 + 47 = 92

14:47 A 24 Hahn Manfred 53 + 52 = 105

A 23 Temper Anton 52 + 50 = 102

14:53 A 19 Schaurhofer Johann 53 + 45 = 98

A 22 Sperl Pierre 56 + 43 = 99

14:59 A 20 Haider Hubert 55 + 53 = 108

A 21 Hintersteiner Gerhard 44 + 47 = 91

15:06 A 21 Hintersteiner Gerhard 55 + 51 = 106

A 24 Hahn Manfred 54 + 47 = 101

15:12 A 22 Sperl Pierre 49 + 47 = 96

A 20 Haider Hubert 50 + 46 = 96

15:18 A 23 Temper Anton 52 + 49 = 101

A 19 Schaurhofer Johann 45 + 53 = 98


